Unit 8 Day 6 HW Study Guide for Graphing Quiz KE
Name Y

1. Which of the following quadratic functions would have a graph open downward and shift up 4?

a. f(x) = 5x2 - 4 A
b. f(x) = -5x2 - 4 -

. &
c. f(x) =-5x2+ 4 I, \

d. f(x) =5x2+ 4

For #’s 2-4, draw an accurate graph (with at least five key points) and find the following:

erot: (2,57
2. y=(x—2)2+5 v (# 10
Axis of Symmetry: x"'z

Vertex:{%#,5 ) MAX o@

direction of graph: QF

range: yzs 10 -8 -6 4 P ;‘k
|
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X—> -0, y—> 00 4
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By = Oy oD

End Behavior:
nd Behavior o Yy D

Increasing interval: ‘ 2 ) oo

Decreasing interval: "OA ,QJ -10

3. y=—(x+3)'-5

&

Axis of Symmetry: x 3 ‘
Vertex: L},J@or MIN ‘
direction of graph: AON n :
l

|

range: #é‘& -0 8 6 4
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8
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End Behavior
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Increasing interval: (—&l— ] R
Decreasing interval: ) 28 >
; £3,e Ve




4. y:—2(x+4)2+9

Axis of Symmetry: X= - El

Vertex‘ H' ’.or MIN

direction of graph: _dM

<yiL
range: -

X—> -0,y b

>0, Y>> =~

End Behavior:

Increasing interval: C____ B l"]

Decreasing interval: E‘_,@)

10 -8 \/E 4 j/—E

10

8
&
4
2

4
-6
-8

-10

2.4 .6 8 10

Describe the transformation(s) on each of the following functions compared to the parent function y = x2.

5. f(x) = 2(x - 4)2

1) Verk . stretzh by 2

2) Right 4

6. g(x)=-(x+3)2+5

'\ﬂ(‘e\uﬁm ovel KNS
3) Ledr 3

Yup$

7. h(x)=6x2+7

i) Veut - <tvetch \rn, b

2)|Af7

For #'s 8-9, draw an accurate graph (with at least five key points) and find the following:

wP

8. y =3x"+6x—-2

Axis of Symmetry: X2 ~ |

Vertex‘ I, 9) MAX or
y-intercept: (o! 2

range: ¥ z ’5

X—> -0,y —> od
—> 0, Y 06

Increasing interval: L )

End Behavior:

2{3\

Y‘ 3-1) 4 b(-1)-2
3-L-2=

Decreasing interval: "’oﬁ ,'! l
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My d= gy oD

108 -6 4

2.4 .6 8

10



d,. wn x:' < '
9. y=-2X*+4x+3 T2

Axis of Symmetry: xg | \r'-zl\)h qa) +3
Vertex:‘ l' 5) w or MIN \'5 -Z*l‘\*?’ S

y-intercept: (0 3

B

X >0,y = = od 10 8 6 4

End Behavior:
nd Behavior X —> 00, Y o =

Increasing interval:(:eg ,ﬂ

Decreasing interval: l | ) O)
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10. Given the following equation, Y = 3(Xx+5)* =10, what is the vertex? ‘ -5 ht | O)

11. Given the following equation, Y = (X —2)® + 6, what is the range? )I 2 6
(2,0

12. Given the following equation, y = —(X +1)* + 3, what is the increasing interval? (”90'. ’Q

(-1,3) N

1
13. Given the following equation, y = = (X + 6)2 —4, what is the axis of symmetry?

('b)'q)

X==lo

14. Given the following equation, y = —5(X + 6)2 + 8, what direction does the parabola open? d own

15.If f(X) =(x—4)* -5, graph h(X) = f(X+5 on the same set of axes.
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16. Given the graph of f(X) =(x—-3)*+2, graph g(X) = —Zf(X) on the same set of axes.
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Vocabulary to know.....

e Vertex Form

e Standard Form

® vertex

e axis of symmetry

® range

e increasing/decreasing interval
e max/min

e y-intercept

e end behavior statements

STUDY, STUDY, STUDY !!!



